SHSEE RBUREMR AFMRRREHREIZIARED)
SH5E7A18RAE
[A] [B] (B./A]
/\ = ~xr
5 Nojz | & & £ FIEEE AFREH T
(1-2-38) OB | 1® | 2% | 3% | 4% | 5% 5
1| # 3# [2-32 120 4 12| 19| 20| 22| 26 103  86%
2| b T i [2-32 120" 4 11 16| 20| 25| 23 99  83%
3|a| =& 7w 232 120" 12| 23| 23] 25| 25| 25 133 111%
s|a| kERtomEER |238 160" o 19| 27| 41| 43| a5 185 116%
E 50| HEEEEZERER |2:35 60|| 2 7 14 16 13 14 66] 110%
B
Bole[a| 5 < = & & B [238 1oo|| 6| 18] 21 15 29| 21 10| 110%
17|38 B U N R BB |[[2:35 100" 19 41 60 120[ 120%
8lR| A S HEBEBE (238 90" 6| 11 17 171 19 16 86|  96%
AEARS R 2:38 90" 2| 18] 18] 19| 12| 20 89  99%
AOWRIV DI IRER = 9
tol#| Z7TTEMRERD J2-a8 70" 6| 11 11 10| 10 7 55 79%
e s - 12 12 0 1 of 1
1|5 BRCELEAERASL 90 97| 108%
¢ EoCHEARR 2:35| 78 6| 18] 17 17] 19 19 96
e s ) 15 4 2 [ o
12|f| Rrct+BEEAEREE 225 223 99%
| RECCLRRARRRE oo 70 73] 71| 214
e s 12 15 7 5 4 16
13| 0| RECEIESEDREEBE 155 181f 117%
g ¢ EeELEECORNE 2:32 [ 140 16 30 30| 30 29| 30f 165
: e g 15 [ 15 7 1 of 8
E|14|5| BECELESHELEEE 165 176 107%
. E | RECELES sl 2:32[ 150 17 30 31| 30 30| 30 168
o= |2 . 12 [ 15 3 3 o 15
E|=]|15| % SRS E 155 167 108%
- ¢ esiah 2:32 [ 140 1] 31 28] 30 28] 26 152
& = 15 5 6 4 15
16| FA B DOAZELE 151 162 107%
% xE# tE 2:35| 136 10 23] 30| 28] 20| 27| 147
\ 12 6 2 1 of 3
17| Fh AREDKSFREE 96 109) 114%
* SCLL 2:35| 90 of 18] 17 20 20 22 106
18|%| mmxzmEARSEE |——1 1 150 43] 331 SO 11 yaql 764
% 2:35| 39 10 5[ 10 25
H - 12 | 135 38| 33 36 107
19(F6| ffE&HE & 165 147 89%
# ATIRZEME MFEE 73s ” o = o
= _ 12 | 180 43 51| 45 139
20| % = = 200 163  82%
% BHE 2:32| 20 11 5 g 24
= - —
AREZFEFALUIEZE o
ES o 0
12N sEmagasgm | 255 I I
i EEXEFTMRNBREEFR am 9
R e PR 5 3 3 6| 120%
==
gl AR e VR T 238 ol 5| 7| 7 19 100
g uli| ccrnoEarsE 232 19 5 7 5 17 so%
1] . o &
:d;;: ;{E: 5% 2 %Tg ;f 2% |238 1] 3 o 7 19 106%
E—3 \ - ~
ol E 2% 2 TE o & (298 18] 2| 9o 5 16 8%
eI Y J 147 % vy R = ,
7il= 27 F B = - = 2:35 19 4 7 8 19| 100%
ES P ERER = 0
7|28 & £ 25 (2= 19 2 9 5 16 84%
29|F| WMRLLLBKRE 2:38 19 4 8 7 19([  100%
30| Fh| A—FYFFRERERE |[[2-38 19 2 8 8 18 95%
i B 2777| 1e8| 391| 438 595/ 582 596" 2,764|




